a & a @ Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6, 895 x 1000000 = 3,741 x 1000000 =
10,779 x 100 = 7,41 x 1000 =
1,212 x 10 = 6, 669 x 100000 =
4,806 x 10 = 7,948 x 1000000 =
1,116 x 100 = 9,055 x 1000 =
6, 114 x 1000000 = 10,218 x 10000 =
1,663 x 10000 = 4,102 x 100000 =
7,291 x 10 = 8,035 x 100 =
3,81 x 10000 = 1,494 x 100 =
4,19 x10 = 1,749 x 1000 =
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a & a @ Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
6, 895 x 1000000 = 6895000 3,741 x 1000000 = 3741000
10,779 x 100 = 1077.9 7,41 x 1000 = 7410
1,212 x 10 =12.12 6, 669 x 100000 = 666900
4,806 x 10 = 48.06 7,948 x 1000000 = 7948000
1,116 x 100 = 111.6 9,055 x 1000 = 9055
6, 114 x 1000000 = 6114000 10,218 x 10000 = 102180
1,663 x 10000 = 16630 4,102 x 100000 = 410200
7,291 x 10 ="72.91 8,035 x 100 = 803.5
3, 81 x 10000 = 38100 1,494 x 100 = 149.4
4,19 x10=41.9 1,749 x 1000 = 1749
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